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. Who among the following-introduced

. The sum total of weather conditions and

variations over a large area for a long
period of time is called

(A) Weather (B) Climate
(C) Hotweather (D) Cold weather

. What are the elements of the secondary

diagonal of the matrix

1 4 F
M= {2 5 8]
3 B 9
(A) 7,5,3 (B) 1,59
(C) 4,5,6 (D) 2,5,8

local Self-Government in India ?
(A) Lord Canning

(B) Lord Rippon

(C) Raja Ram Mohan ROy

. The most abundant ga ent.in
the atmosphere is \
(A) Nitrogen onn
) Hydrogen gq._llonne

. Which of tpe follaing river forms the
borde$ Haryana and
Uttar,
rawati (B) Ghaggar

una (D) Sahibi

e ratio between the volumes of two
spheres is 27 : 8. What is the ratio
between their surface areas ?

(A) 9:4 (B) 6:4
(C) 3:2 (D) None of these

. T ged TS & ot siafe ) wiew

aﬁmw%wmﬁ%ﬁ%

(A) Tew (B) t«:t)

(C) 3IwHEm

. ﬁﬁw%w—ﬁﬁﬁw

; “‘%\c}

(A)? (B) 1,5,9
(D) 2,5,8

@&qa frer e § SIHRE W -ITE

g B ST Tm He T

(D) Lord Mountbatien Aﬂi

(D) ¥ wEeH

. JIRHVSA H TaE T HEATH TRTSTHA
i e 8
(A) TEZT (B) wAifm
(C) BESRH (D) eI

. Ffeitaa 4 9 it 7et gfemn sk
IR o T HiHT T B 7
(A) |l (B) =T
(C) T (D) Hfesh

. I gEll & S BT 27 1 8 Bl I
TG &AHA o 1= 1 A FTENT ¢
(A) 9:4 (B) 6:4
(C) 3:2 D) & @ %K e
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7. Which of the following climatic controls is
the most important ?

(A) Latitude

(B) Altitude

(C) Pressure and wind system
(D) Continentality

8. Elections for the post of the President of
India takes place after every

(A) General election of the parliament
(B) Four years
(C) Five years
(D) Six years
9. What is the total number of seats in
Lok Sabha from Haryana ?
(A) 10 (B)~7
(C) 8 (D) 12

10. The Geometric mean between 7

is
(D) a*

(A) 11
(C) 13
11. Capital of Afghanistan ¢ A V4
(A) Kabul @éndahb:
H f th
(C) Herat NG/ yq_iueko these
12. Energy in the w storedin a dam is

(A) KingQ\en&gy (B) Potential energy
(C) al energy (D) None of these

13. ch'should a man investin ¥ 50
ares selling at ¥ 60 to obtain an
nual income of ¥ 900 if the dividend

declared is 15% ?
(A) ¥ 9,000
(B) X 7,500
(C) T 7,200

-

(D) None of these

7. F9 ¥ @ e Soay-faws fEEm swm
ERick LR @

9.

-

11.

12.

13.

(A) 11

(A) arermt

(B) F=E

(C) =™ AR ar TSk

(D) weETrdRd \
W%WW?@

(A) TEIF TW

OO

4

(B) 12
(C) 13 (D) 14
AFTRER &6 TeaH! 2

(A) FEA (B) -#TER

(C) 2w (D) H @ +E TEl
g § aufed ot § i gr @

(A) TS T (B) feorfast wtt
(C) R 35T (D) &8 @ %E A2l

T 50 AATIRE T I 60 WAATITIR, Tohet
Faw 8 WERHT AT T 900 Wi S
H1fd AT 15% 2 ?

(A) ¥ 9,000

(B) % 7,500

(C) ¥ 7,200

(D) =€ @ HE Tl
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14. Abhinav Bindra, who won gold in 2008
Beijing Olympics, is associated with
(A) Boxing (B) Swimming
(C) Weight lifting (D) Shooting
15. What is the name of the garden situated
in Pinjore ?
(A) Yadavendra Garden
(B) Karna Lake Garden
(C) Rose Garden
(D) Sultanpur
16. Which of the following is called ‘Sunshine
Vitamin® ?
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D
17. Find the compound interest on X 5,000
for
2 years at 10%.
(A) ¥ 1,000 (B) ¥ 1,500
(C) % 1,050 (D) None.ofy
18. ‘Children’s Day’ is observgd
(A) Jan. 30 (B)
(C) Jan.'26 % . 14\\!
19. Who invented DGW .
(A) Alexanddmming ~*
(B) Louiseast
S
(D d Jenner

20. oly place has the same
portance as Gaya for performing post
ath rituals of Ancestors ?

Pehwa
Asthal Bohar

Kurukshetra
Kameshwar

(A)
(B)
(C)
(D)

14. ¥/ 2008 & sfifom AT # gaol 7
TR ARFe g e @a @ weteg 8
(A) ket (B) dwwEhl
© wasiem (@) i
15. TUsiT o feerg i = = 7e
(A) qTEaAE MEA ’

&’Ufémméqo
o N

16. = @‘q}wﬁaﬁq’ﬁﬁ%?
B (B) fererh off
&ﬁgrﬁwﬁ (D) Rz &

10% M 7 ¥ 35,000 T 3 i 1 95

.‘.“p“

(A) ¥ 1,000 (B) ¥1,500
(C) 1,050 D) H @ FE Al
18. ‘9 foaw =4 &7 wamne e
(A) 30sHad (B) ~2 37
(C) 26 sHatt (D) 14 7@
19. IRl =1 Afawrr e B ?
(A) TSI FA =T (B) 5 TR
(C) ¥ D) TeaE =t
20. fUqU = 918 o foru ma Sen e for i
1 fear s 2 ?
(A) uam
B) 3TEre st
(C) Feer
(D) HHIR
-4-
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21. A man bought 500 shares of face value | 21- T = 10 3ifhd 4o & 500 91T

of T10 and during the first year after 2 IR @ld & 9T w a¥ 1 sty |
purchase receives I 400 as dividend on T400 39 ST T AW U 2[R @
his shares. Find the rate of dividend on :
. R AR X YT

his shares.

0,
(A) 8% (B) 12% ‘2) ? ;:/
(C) 10% (D) 15% &l 10

22. IR YU HTHTI
22. Major harmful gas emitted by automobile wE 1 g

vehicles which causes air pollution is (A)
(A) Carbon monoxide (B)

23. Hypertension is theterm used for BT HegE

(C) Carbon dioxide o

D) O

(D) Ozone gas ZNQWWWE@IW%?
(A) Increase in heart rate B) &
(B) Decrease in heart rate Y SRR E T
(C) Decrease in blogdpressure (D) TEA=TAH AgH

(D) Increase in blood p

24. EfemrEt qETEr “foem swon’ i =

24. \What is the meaning of t ' y ‘
idiom ‘Chilam Bharng’ "Ny N (A) TFH R L&A
(A) To keep readfHOwah (B) sF=IT H M <HT
(B) Taking a A€ from children (€Y gvm
(C) Sweet tal

(D) Doitedpod work
| 25, 3R ‘0’ AuiiE ARSI 496 © 41,
25. w of the first ‘n’ natural numbers is w2
d

$ . (A) 30 (B) 32
)30 (B) 32 (C) 31 (D) 33
(C) 31 (D) 33 O
26. A light-year is a unit of (A) @ (B) =
(A) Time (B) Distance (C) = (D) i
(C) Velocity (D) Energy
-5-
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27. Where Haryana’s first military school is 27. ERETOT o e el Afeh e el

established ? I g1 7
(A) Kunjpura (A) T O
(B) Manesar qHE < )
(C) Hisar ((E; fear
(D) Madhuban \’
. - . (D) #Y=H R
28. H.C.F.of &, 2 and 35 is o8 %’%aﬁx m@
1 5
Al = B > s\\ 24
9 ﬂ K
Sl B
© 15 @ 35 (©) @ (0) 55
29. The view that the state is a necessary 29. ST T ¢, TE A T8 TR @

evil is associated with
(A) Individualists (B) Anarchists
(C) Marxists (D) Sophists

N’ iFaws (B) 3WWaTEl
)\W{aﬁr (D) Fahi
TG SIS 1 5 SR TS 2

C (A) A G HER

30. The Vice President of India is electef®Qy"
(A) Members of Lok Sabha

(B) Members of Rajya Sabha (B) g wsTHER
(C) Members of both H (C) "HE & SHITEAIS e

Parliament (D) &fi T o fgm #ved & v

(D) Members of all §ta keglslq}\
31. InHaryana, ‘T ‘XBfead«jF{otl Ka AE A ﬁaw&g‘w for sma 1
2 g7
Mudh Jana) |@|gn of which of the H3A%
following A\ o (A) SETd A H
i rain (B) R ¥ T FH H
QoinY out from home (C) qsgl@ﬂaﬁa;r
S . chage of animal (D) TEHH GH AT *H
V) Arrival of guest at home
49 21
32.
2 36
(B) 12 (A) 84 (B) 12
(D) 144 (C) 64 (D) 144
33. The statement that the state is an ethical
-6-

SarkariExam.com




SarkariExam.com

34.

35.

36.

37.

38.

institution which is indispensable for the
full moral development of man is
attributed to

(A) Individualists
(C) Idealists

(B) Anarchists
(D) Marxists

If X and Y are brothers, Z is sister of X, P
is brother of Q, Q is daughter of Y, how
is X relatedto P ?

(A) Father
(C) Brother

(B) Uncle
(D) Grand Father

Which of the following is the Haryana's
largest sacred pond, made up of paved
from all around ?

(A) Falgu Sarovar

(B) Brahma Sarovar

(C) Kapal Mochan

(D) Sannihit.8arovar

After Jeevan gave Rs. 12 to Hamidigiig '\
Hamid gave Rs. 4 to JeeVan, boffimg
equal amounts with-them-Wt th

h
smaller amount initially a U
much ?

(A) Hameed by Rs. \\({

(B) ‘Jeevanby é‘

(C) Hameed b

4 o .
A man ing south. He turns 135" in
the wYockwise direction and then

(D) Jeevanb
in the clockwise direction. The
ion he is facing now is

) North-East (B) North-West
(C) South-East (D) South-West

Which of the following district's border of

L

33.

34.

36.

37.

qE FYF W1 Fed1 2 T UF Afie G 1R T
n@m%@fﬁﬁ%m%%ﬁaﬁaﬁé,@
THHT IW A HRIT 2

(A) =fdTE

(C) TEviaTa
Ffe X 3 Y 9E ¢, Z7e

FIAER, QIR Y HI
@R ? .

e
(C) wE (D) =

e, =T % 9 U
Gfept TR AR ?

e BT FISfeq 12 T TR RS 1
THIE 4 %. TR, ad gH1 & T U 0 A
1 ARl B AR H fRees T & W off 3T
Tt oft 7

(A) FHIR® 9@ %, 169

(B) SlanF u@ = 49

(C) el 1™ % 129

(D) Sflem & TE % 84

s AT gfer i 3w srfigE 2 | 9 awEd
fem # 135° gwat 2 ok TR 180° wfmmad
oo # gHATR | 319 9 o fem @ srhnra B,
EEhd

(A) st
(C) afmr-

(B) ITR-ufrem
(D) wferor-afvam
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Haryana is not touching the bank of g
Yamuna River ? 38. FHAT A1 % Wiy, B % Wﬁ@

(A) Panipat fopa fret =61 e & et 7

(B) Rohtak (A) i O

(C) Yamuna Nagar (B) TEash ()

(D) Sonipat (C) TR \ .
39. According to Aristotle (D) ETa . (b

(A) State is a divine institution 5 \

(B) State is an artificial creation 39. ifraEiedt & 3

(C) State is a creation of force (A) T ?‘Wr%

(D) State is natural institution (B) gfed
40. 92 +8+2=" (C) Frgfee

(A) 5.25 (B) 4.25 @ U & T TR

C) 5.75 D) 4.75

- ® ’\92 B=2=7

41. The term ‘city state’ is generally
associated with

W o5 (B),_4.25

() 5.75 (D) 475

(A) Ancient Egypt
(B) Ancient Greece &
(C) Ancient China * 41. ‘YRS’ I€ V1€ UMTG: SO T ted ©

g |¥ 4

(D) None of the three 6 (A) A 2 (B) =i U
42. Expansion of IAS is \/ (C) v =H (D) <1 H % &l
q
(A) Indian Admﬁ, e Service
(B) Indian AdgmnisNetion'Service 42, E.Q . F1 I e
(C) Indian Ad%\rator’s Service (A) 3fem sfstiregdia wifa
(D) Indj dr#tiration Service (B) 3feem el affa
umbers from 501 to 599 are (C) zfeam lelmiesed uida
what is the total number of times e st
the digit 6 appear ? () wHa
(B) 12 43. 3f 501 & 599 @eaTd foreh sttt & a1, Fet
(D) None of these AT 6 F1 37 T 3T 7
(A) 11 (B) 12
44. Sonipat city is famous for which industry ? (C) 20 (D) = A RE T
(A) Cement
.-
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(B) Bicycle 44. grod R g e F o afag R 7
(C) Cotton clothes A) S
(D) Car f
U he d h & O
45. Using the digits 3, 2, 5, 6, 9, how many
three digit even numbers can be made ()} P ()
without repetition ? (D) =R
(A) 10 E)i3ed 45. 3,2,5,6,9HIERI
(C) 60 (D) None of these aoﬁ W‘q’ﬁﬁw : Hﬁ“l? )
46. Srinivas Ramanujan was a great (A) 10
(A) Lawyer (C) 6 &\ D) sﬁﬁﬁq‘aﬁ
(B) Mathematician 46. st o TER g
(C) Medical practioner (A)
(D) Film star
47. Metro first reached in which city.of @@"ﬁa
Haryana ? o :

(A) Gurgaon (B) Sonipat
(C) Faridabad (D) Rohtak

48. At which place did.sord Kris
the message of Geeta to {j

(A) Panipat

A V4 48, YTE w01 A YT oAl YL fFE T W

(B) Jyotisar (Kur
(C) Pandu Pind " S T T ?
(D) Kapisthal@ m 2 <04 (A)
49. In which Nlimete zone is rainfall low V2 : (@Qﬁ)
- hlghl e and undependable ? ’ (C) wrug fiem
itude western continental (D) HuTIA
mfg, 49. Wi wieE whey A i w, R
Humid mid-latitude ST ST 1 2 7
(D) Polar (A) weg et afvemt HE g wET
(B) Ieumnfesreft
(C) 3T Heg-31aTmT
50. Kurukshetra's Sthaneshwar temple was (D) g

rebuilt by whom ?

-9-
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(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao
(C) By Prabhakar Wardhan

(D) By Chandragupt Vikramaditya

51. Which of the following female
mountaineer has conquered Mount
Everest twice ?

(A) Malleshwari

(B) Santosh Yadav
(C) Mamata Kharab
(D) Sunita Sharma

52. Which type of climate classification
scheme uses vegetation patterns.as-a
prominent feature ?

(A) Tropical (B) Koppen
(C) McClatchy (D) Maxfield

53. Which of the following-religious
historical place is located in Lal\a
Majra village ?
(A) Saint Meershah I\da \/
(B) Manjisahib G%ra L
(C) Shekh Niz I Majar
(D) Suryaku -

54.

Whic@faﬁous as the “City of
We ?
@rnal
$ Ambala

Yamuna Nagar
(D) Panipat

55. Concept of permanent consumption was
introduced by

(A) Samuelson (B) Simon Kuznets

BAE) v

50. FE& o TAHYAX HI-qL 1 GAHHIT
Frfataa o § formehs g s /= 7
) TS gYaYH g
(B) WIS WETIE TS FRT
(C) TR e g1

WﬁWﬁ?‘
\umﬂaﬁzm
N

51.
ﬁmaﬁw

I T H ST FHAl 8 7
W?s:g%—a (B ==
(D) AeEfes
53. TG HTSWI 7T § shian enfifeh ug
Ui T g ?
(A) G HEITE 9
(B) WHTEa Teg
C) Y@ FHSmEH TeR
D) e
TR 1 e % G H T TR
foregma @ 7
(A) =TT
(B) STETEA

(C) I IR
(D) U=Ua

54.

-10-
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(C) Mitton Friedman(D) Harrod 55. IFR ST 1 SreET I S F

56. National Milk Production Research (A) HRIHATE, (B) HRW FeleE
Institute is located in which of the (C) fFeq weemq (D) &R
following city ?

(A) Panipat (B) Yamunanagar 56. TS U 3cqTeH ST E’GE}F%HTI'{
(C) Karnal (D) Faridabad ﬁf@m% ?

57. Haryana’s first university was established
in which city ? (C) RATA
A) Kurukshetra
e T, ST @wmwﬁ
(C) Rohtak
(D) Murthal

58. Speenlative demand for money is
inversely related to
(A) Rate of interest(B) Income
(C) Money supply (D) Investment

59. Bhagavad Gita is included in the Indi R ST w1 T e e 2
epic ‘A (B) et
(A) Ramayana (C) W=iamd (D) Haw

(C) Brihadayana (D) None

59. WRd o 38 AERRA § WA g1 &1 G0N 8

60. In which city Kanodsfo itu (A) TR (B) WeTHRA
(A) Narnaul LG
(C) Thanesar nsu - N B (D)= A TR
61. Whichisthel te:dqt[nct in 60. TS 1 forer b A feora 2 7
Haryana ? % (A) AT (B) WE=mTg
(A) Rewa\ ¢ = (B)Mahendragarh (C) omET (D) wreh
(C) (D) Bhiwani
61. TITON 1 Heldl 4 |I&aT are fsien
62. -Donglas production function FEd ?
jcity of factor substitution is equal to X
$) Zero (B) Infinity (A) T (B) wE=TE
(C) Ore (D) Two (C) wama (D) forarft
63. Sultanpur Bird Sanctuary is located in| 62. F-STeid o Ieura FRl & FHTh AT TH H1
which district of Haryana ? AT $HF TS ET e
(A) Gurgaon (B) Rohtak (A) @ (B) 3w
(C) Panchkula (D) Faridabad (C) w=® (D) =

i

SarkariExam.com




Field Inspector (Store)

64. Space Scientist Kalpana Chawla was
born in which city ?

(A) Panipat
(C) Kaithal

(B) Karnal
(D) Gurgaon

65. “If an oligopolist decreases his price the

rivals will follow”. This is the basis
assumption of

(A) The kinked supply curve

(B) The oligopolistic demand curve
(C) The kinked demand curve
(D) The demand curve

Directions (Qs. 66-68) : Choose the
alternative which does not belong tothe group
to which the other three belong.

66. (A) Arjuna (B) Bheema
(C) Sahadeva (D)
67. (A) 20 (By™19
(C) 18 (D) é
68. (A) Chlorine ( hsen AV 4
(C) Tron droge
69. The first thin@~ Fimitive ‘man learnt
was
Mwheel

70.

‘Sur Esteem Reward’ is provided for
special talent of which area ?

(A) Cinema (B) Agriculture
(C) Literary (D) Games

63. Feamu uat faEr gfemon = o S

\)

He 7
(A) TR (B) gash
(C) U=l (D) wﬁzm()
64. IAdre] ok hHodAT ol Ntﬂﬁ?%&r
wﬁgaﬂ? . ?6'
65.

Y a5l AT 7| A TR qA

“m%'qm %ﬁwmmwwwr%

IENEEFETR AT aF

\B)an AT =

feet (7. &. 66 ¥ 68) : TET fehe o s TR

AT % TE & gt T8 2 |
66. (A) (B) fm
(C) w8wa (D) Zaiem
67. " (A)- 20 (B) 19
(C) 18 (D) 16
68. (A) IR (B) TS
(C) =T (D) TRERH
69. =AeHFHY T Tl ¥ diEn
A) TRATEHHT
(B) STHGRI I TeHT

(C) IR formT
(D) 3TFT I°0A HTT

12-



Field Inspector (Store)

71. 5 years ago, the average age of A, B, C | 70. gt ¥mH TR form &3 4 fafvre gﬁ@

and D was 45. With E joining them now, ?
the average age of all the five is 49  fere s forem s @ ¢
years. How old is E ? (A) Fmm (B) iy O
(A) 64 years (B) 45 years (C) mifeea (D) @ ()
(C) 25years (D) 40years
72. In which district of Haryana has a railway ., WEEE, f&’ B, C 3i¥ AR
workshop ? oft | 319 30 E wifie? Y HHI 3
(A) Gurgaon i Y o it S R | EI TR
(B) Sirsa mﬁa ? \
(C) Faridabad & s\ (B)" 454
(D) Yamuna Nagar ) 4099
73. The palaeolithic man lived on 79 Qﬁq%ﬁ o F FFEI R 7
1. Hunting o
2. Fishing --ﬁ.

3. Cultivation

4. Food-gathering (C]__% )

Choose the correct answer group. anm

(A) 1,2,3 (B) A-2-4 & gﬂvmﬁﬁwwaﬁaq fafe sa@ ST g

(C) 2,3, 4 L8 | 1. BT
Directions : (Qs. 74-76) : ao he one'| 2. HEAE
which does not belong to th giWNp Bf other
three. 4 3. wdl ’
{ 4. F~=-Tusu
74. (A) East (ByVouth T I G 1T HINT |
(C) South 6 West e BRI
75. (A) Sqg . (B)  Rhombus (C) 2,3,4 (D) 1‘, 3.4
IR FHIGHT :
76. (B) Brother
) Yather (D) Nephew 74. (A) H (B) W&
(C) Tferor (D) ufvem
In which of the following respects, the
various Harappan sites have marked | 75- (A) o (B) wwugy
uniformity ? (C) = (D) TR A
(A) Agricultural practices 76. (A) =i (B) ¥®
(B) Crafts (C) fmr (D) wwftstt

-13-
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(C) Town planning
(D) Seals

78. Which letter should replace the question

mark in the following series ?
GHJM?V

(A) Q

(B) P

(C) O

(D) R

79. Dosi Pilgrim is located in which district ?
(A)
(B) Karnal

(C) Mahendergarh

(D) Bhiwani

Hisar

80.

4
Cs

(A) Guijarat 0‘
(B) Punjab a Ma'?“]a
(C) Rajastha

(D) N. ttaf Pradesh

$$

-14-

The largest numberof-Harapp @
post independence India m%n
discovered in

77.

78.

80.

AR d o fFo d® @ sew & fofm i g
GHHEATIE S8 7

&) FhA @
(B) wHmd ()
(C) T A™EH \0

(D) w= ‘\(b’

Fe gaend SIE & HET AR

L
@50
AN

4 D

19.

2 el form forer d fem 2 7
(A) fEEr

(B) AT

(C) WR="T8

(D) Tt

WAFAdT % o€ TG § 68091 & el 37 fofeh e
DEECIERID

(A) Tt

(B) U 3R g fEoTT

(C) TS™IH

(D) 3. 9. 3T e



English Language

Directions : (Qs. 81-83) : You are required to
rearrange the parts labeled P, Q, R and S to

produce the correct sentence. Choose the correct

sequence.

81. |have
P : any fragrance
Q : and more penetrating
R : never come across
S : that is more beautiful
(A) PQRS
(B) SRQP
(C) RQPS
(D) RPSQ

P : come to have a look at-the girl

Q : the party thathad

R : his eldest sister and a lawyer frien
theirs

82.

(B) QPSR
(C) QRSP
(D) QRPS

P : the postman

Q : brings Iett%q AF. N
R : relatives andg#fends

83.

Direclions (Qs. 84-85) : Choose the word which

is most similar in meaning to the given word :

84. Pardon
(A) Produce
(B) Excuse
(C) Sell
(D) Develop

S : consisted of the boy’s"parent
(A) QSPR *

-15-

85.

86.

i [yt
87.

89.

90.

Field Inspector (Store)

Mandatory
(A) Real

OO

2

(B) Bravery
(C) Required

(D) Discovery . (&
Plural of “ox” is

(A) oxeso&\()

(B) ox&

;

OXUS

ﬂ% s (Qs. 87-89) : Find out which part (A),
or (Qof the sentence has an error. If there is

. your answer is (D).

The house with all its (A)/furniture and
exotic plants (B)/were sold for Rs. 60
Lakhs. (C)/No error (D).

Many a student (A)/are frustrated
(B)/because of unemployment. (C)/
No error (D).

They walked (A)/besides each other (B)/

in silence. (C)/No error (D).

Choose the alternative which best
expresses the meaning of “RAGE".
(A) rank

(B) rule

(C) care

(D) anger
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